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—2x+220=180
A=2x+70
m = \L..k.. + HMD

What is the value of 4?
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180 =9x +27
A=3x+35
B=6x—-8

What is the value of 4?
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180 +4x =236
A=2x+24
B=—6x+212

What is the value of 4?
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Tx+48=90
A=2x+12
B=5+36
What is the value of B?
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£
90 = —7x+160 2x—42 =-5x m
C
A=-2+52 A=2x+130 ]
3
B=-5¢+108 B=-5¢+172 m
What is the value of B? What is the value of B? W
powered by powered by
mxw:..s.m_m\w mxw:..s.m_m\w
—4x=-2x-32 —20x +460 =—63x+ 675
A=-2x+120 AB =-2x+46
B=—-4x+152 BC=-Tx+175
What is the value of B? What is the value of 4AB?
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2x+194=174
A=3x+40
B=-5x+154
What is the value of B?
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—7x+65=-5
A=-3x+93
B =4x+ 88
What is the value of B?
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—4x—47 =63
A=-1x+81
B=-5¢1144

What is the value of 4?
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—&x+33 =180 187
A=-2x+31
B=—-6x+136

What is the value of 4?
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£
Q
—4(3x+3)=-156 _5(-2x—3)=57—4x k!
c
Q
A=3x-35 A=-2x-28 m
[}
B=6x+25 B=-6x+27 £
s
What is the value of 4? What is the value of B? S
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20 = —4(=5x +5)
A=3x-25
B=—4x-31

What is the value of B?

25 —3x = 4(2x—2)
A=-3x-30
B=—4x-22

What is the value of 4?
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_2(5x+5)—24 =124
A=2x+22
B=—6x+6

What is the value of 4?
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_5(-2x—5)=156 21
A=2x—18
B=-5x+9

What is the value of 4?
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60 + 10 = —5(—4x +2)
A=2x+5
B=-5x—6

What is the value of 4?
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6x— 144+ 2x =84 —6x
A=-2X+6
B=—-4x+12

What is the value of 47






